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(B4 )

BMKES SH6EE11AMHETFTE (11/25RE9) OFME

1 EHMASHEPE (—BKE) i (R4 : T, %)
EE HIERTO%E tHIEZE Hi teBE (%)
(A) (B) (C) (c)/(A)
;6. BMKEXE 44,085, 430 236, 506 44,321,936 100. 5
=;11. KEEIRE 3, 563, 843 2,191 3, 566, 034 100. 1
B & &t 47,649, 273 238, 697 47,887,970 100. 5
2 BABHTH (—laE) _ (#4135, %)
BB M IERIDERE tHI1EZE B EEER (%)
(A) (B) (Cc) (c)/(A)
B MK E K F EF 740, 234 20, 934 761, 168 102.8
B Wi Ik S 4,286,716 8,029 4,294,745 100. 2
B X £ B 3 7, 140, 961 65, 031 1, 205, 992 100.9
EIE W X B § 1,989, 188 8,589 1,997, 7717 100. 4
& E B 2,774, 664 25,128 2,799,792 100.9
LERITS Y RHEHEE
x (B HKEZ B 127,914 890 128, 804 100. 7
BE & B {F i 5,113,110 21, 658 5,134, 768 100.4
B H B {F i 8,907, 407 12,080 8,919, 487 100. 1
( N 5 ) 31,080, 194 162, 339 31, 242, 533 100.5
® * B 4,381,472 22,255 4,403, 727 100. 5
®
" F MK OB E G 6, 695, 552 18, 698 6, 714, 250 100. 3
( N H ) 11,077, 024 40, 953 11,117,977 100. 4
7k [K E B 3,632,233 31, 272 3, 663, 505 100.9
Elp B R ¥R = 1, 859, 822 4,133 1, 863, 955 100. 2
x ( N it ) 5,492, 055 35, 405 5,527, 460 100. 6
B & &t 47,649, 273 238, 697 47,887,970 100. 5
3 %At (B FF. %)
&8 MERIDE e S & (%)
(A) (B) (C) (c)/(A)
EMABAEHEE £ 320, 202 0 320, 202 100.0
moE K & B K 5 17,076 0 17,076 100.0
B & i 337,278 0 337,278 100.0
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(1) BMKERBER

EVIRS

(B FH)
= X & FHIERTODER | FHIERE &t & %
® & 740,234 20,934 761,168| [B4iE] IR 20,934
1 — eS8 415,465 8,167 423,632 —RREEE 50N
2 BMKEREHESE 126,779 6,954 133,733| RETFEMERABEA 37A
3 HEEABRBHEXEERHE 142,247 5813 148,060
(2) BRILEFRER Gt FF)
= X & FHIERTODER | FHIERE &t & %
“® & 4,286,716 8029|  4294,745([BAIR] K 8,029
1 — eS8 147,348 4,218 151,566| —fiEEE 21A
2 hlfEEFEEIERE 1,600,447 176| 1,600,623
3 RhL—HEYTHIEHEEEXE 3,106 371 3477 —~REHEEEABE 1A
4 ggmﬁ%@*ﬁd%m%iﬁﬁﬂﬁﬁ%% 15.037 371 15.608
5 SEMEEIILERXE 1,353,193 195 1,353,388
6 FESUBEANRERE 375,955 2,698 378,653




(3) BERER

(Bifsr: FH)

= ¥ 4% HIERTOEE | 4HIEZE it & %
“® & 7,140,961 65031\  7,205992|[B4iF] & 65,031

1 —REBEE5E 1,828,553 52,349|  1,880,902| —fEEEE 256 A

9 ;ggiﬁgﬁ%&ﬁ?ﬁiaﬁﬁtﬁ%ﬁﬁ{% 462.428 495 462923

3 FRMEERR - FHERE 116,262 744 117,006

4 ERBREBEEEEE 29,107 743 29,850

5 RERItUI—EREER 71,991 2,179 74170| - REFEEERABE 324

6 BERit2—HBRHARE 142,686 498 143,184

7 BEMKEREHEEE 80,310 1,677 81,987

8 EMRERBBEEE 52,958 4,494 57,452

9 EMKERBHFEILTEEXE 46,228 1,108 47,336

10 RIFIAEHREEEE 400,103 372 400,475

N EFAERRE-REE 3,726 372 4,098

(4) EMXIER (i F)
= ¥ 4% HIERTOEE | 4HIEZE it & %
“® & 1,989,188 8589  1,997,777|[BATE] R 8,589

1 —EBRESE 214,530 6,854 221,384| —RREESR 33 A

2 igLiﬂaé,ﬁrtﬂ%ljf;‘z’é*ﬁ&btam#ﬁiﬁ% 65,740 372 66,112

3 LERDEEYRBIBAIEREE 44,450 991 45441 — S EEEABE 4A

4 BHEFREEEXE 22,676 372 23,048




(5) HBER

(Bifsr: FH)

= ¥ 4% HIERTOEE | 4HIEZE it & %
“® & 2,774,664 25128  2,799,792|[BAiF] & 25,128

1 —EBRESE 518,564 12,683 531,247\ —RREESR 69A

2 RERBEEMEREEER 33,235 1,505 34,740

3 REFUEECEEEEER 20,592 716 21,308

4 REGRFTHEFXRE 111,845 1,876 13721| R EEEABE 32A

5 BERMtUI—RREEREE 54,105 1,441 55,546

6 BEHMtEUI—EE 192,388 6,536 198,924

7 FDMEEE 14,203 371 14574 || BERBHRSEEIEEEEE

(6) LERTIURHEER (i F)
= ¥ 4% HIERTOEE | 4HIEZE it & %
“® & 127,914 890 128,804 |[B4iR] 12 890

1 —REBEE5E 26,884 890 27774\ — R 4N

(7) BHEHR (i F)
= ¥ 4% HIERTOEE | 4HIEZE it & %
“® & 5,113,110 21,658|  5,134,768|[B4iR] IR 21,658

1 —REBEE5E 596,478 20,100 616,578| —AREES 88A

2 EREREEEERE 23,481 742 24223|r REFFEEERABE 44

3 TOMEXE 18,047 816 18,863|| BEXERMEHITEEITM




(8) EH1E{HR

(B FH)

= X & FHIERTODER | #HIERE &t & %
“® & 8,907,407 12,080  8,919,487|[B+iE] IR 12,080

1 —REBEE5E 408,196 11,338 419,534 —fREEE 58N

2 Mg RYUSHEEEE 353,580 742 354322 | 2ETEEERABE 2A

(9) FEFR (B4 F)
= X A FHIERTODEE | #HIERE &t fisi %
# B 4,381,472 22,255  4,403,727|[BFiR] R 22,255

1 —REBRE5E 575,021 16,190 591,211|—AEZEEE 8OA

2 HMMERREDHEERE 33,780 831 34,611

3 WILHEREXRE 8,026 651 8,677| r REHFEEMAME 16A

4 ISR 2 — AR E 63,137 2,832 65,969

5 KEFDHFINKVEERE 427,262 754 428,016

6 REMEREXE 16,203 997 17,200

(10) FHFME(HRE Gt FF)
= X & FHIERTODER | FHIERE &t & %
“® & 6,695,552 18,698  6,714,250|[B4iR] 12 18,698

1 — eS8 475,442 15,621 491,063(—RREEE 72N

2 HMETERIIERE 34,871 371 35,242

3 MEEHMBHEERE 33,436 849 34285| - REHFEERABE 7A

4 REMNEMEESER 27,011 1,857 28,868




(11) JKER

(Bifsr: FH)
= ¥ 4% HIERTOEE | 4HIEZE it & %
23 & 3,632,233 31,272|  3,663,505|[BAIR] | 31,272
1 —REBEE5E 801,357 24,565 825,922| —REEEER 112N
2 BERMRFHFEEE 47,113 1,053 48,166
3 KEHMtU I—EBEER 47,528 2,785 50,313| — REFEERABE 1A
4 R EE 25,888 409 26,297
5 BBREEE 51,298 2,460 53,758
(12) BEBAEREZR (i F)
= ¥ 4% HIERTOEE | 4HIEZE it & %
“® & 1,859,822 4133|  1,863,955|[BAIE] 18 4,133
1 —REBEE5E 105,191 2,517 107,708 —HXEEE 14N
2 REETEHERE 31,754 690 32,444
3 KEEMTt A —ERNERRE 25,689 550 26,239| - S EEEABE 4A
4 KERMtV I —REFRABNEER 18,741 15 18,756
5 KERMt S —ZAHARE 37,424 361 37,785




